Trend Task: RiSK Plan

Access

Group Task 4&8
Using information to develop a plan
Completed risk management plan, A3 team answer sheet, 2 camp brochures

Questions / instructions: % response

2009 (’05)
A class is going on a school camp. You have been asked to help year 4 , year 8
do the risk management plan for the camp. Risk management .. . -
plans need to be done before all school trips to make sure that mﬂ . pla}n s Il.k.ely 1o be undertaken | EEEd) | ERIILY)
the trip is safe. Here is a risk management plan that was done for | Significant risk identified: clear ECINEY
a swimming pool trip. | will read it to you. possible EEEQ)

: not at all EeNY
RISK MANAGEMENT PLAN Give students . . . @)
the completed Risk reduction: substantial JEH(
Place: Town Pool e redICe K Risk slight [ERES)
i Risk fer) e ..
R ] Management prohibit activity to students BEN();
Movingto thepool | i ete Plan. Read plan . .
_ — to student Activity 2:  plan is likely to be undertaken EXagll);
T Thopool | Chidren might get bumped or |+ Use Ihe :g%ﬁz;;gegg"tgg?cgte, o students. . ) ; .
pu;ned_unge;'g;WO'e'W”“e s oneen Here is a Significant risk identified: clear JEENES)
getting in anc .
S Chiren coud aroun “Nmomanne - | brochure about rr]Jots S'tblﬁ 1:‘ (;2)
« Teachers should check whe
- et the camp. ot al Pt
v Sl hif fheir heads on | » No diving af the pool A : . ;
Diving &EE%O}\Jo‘?iaégfolZn%déetn Hand students RISk reduc“on' SUbStzlriltllja“l: g; E:g;
badly hur
brochures. 9

prohibit activity to students EEE)]
Read the brochure and think about the activities that can be

done on the camp. For each activity, think about the risks it may | Activity 3:  plan is likely to be undertaken [FeREII0)

cause. Then think about how you could make the activity as Significant risk identified: clear JEIHEE)
safe as possible. You will need to listen to everybody’s ideas. possible [REXID)
Write your ideas on the school camp risk management plan. not at all [RERE)

You can use the swimming pool plan to help you. Risk reduction: substantial IEXEE)
Give students the team answer sheet. Allow time. slight 2LRE)

Now it is time for you to share your risk management plan with me. prohibit activity to students
YEAR 8 ONLY:

Situated on 90 acres, the park-

o Bk & “;:dwigf’;gg’“‘dzﬁn‘;'s%"ﬁ;? (answer sheet provided for two more activities)

S o1 Yorsk 1 i lovel

e L ¥ the ith  these ly - . .

e = — T oo avidry, bUsh Activity 4:  plan is likely to be undertaken

walks and the hot poo_IsP Gﬂ . . . . .

Contact Details S ey ey fom Significant risk identified: clear
5  Conrdinatar. it With six playing fields, tennis/ i

mmmﬁms.z,mvﬁnr Manamata lr:éT\éVg‘P Sgoﬁ,?s\{mgn' auditorium | pOSSIble

and a raft of outdoor activities,

Kauri Park can also be your nOt at a”
m'l il Uitimate sporting and outdoor
experience.

WEBSITE: whawimirgarkorgn
PHONE:  D7-E784700

A o7-BTE47 10

EMAIL hoakngEBkaUnpark.orga

Risk reduction: substantial
g | slight
nd retreats. prohibit activity to students

No matter who
you are at Kauri
Park we have got

Activity 5:  plan is likely to be undertaken

Y e fyou are a school we have fhe [dec 100% 8 EC Significant risk identified: clear
will tailor a a fun and educational environ! )

D Zealand’s greatest resource (our youth). possi ble

we meet all your If you are @ business we can help you plan for > not at all

needs. future or train your staff in a setfing that is corﬁucwve ; i i .

ilip hat\tls o ook 1o both leaming and strategising while still reloxing e Risk reduction: substantial

o
at some of the .
facllities that we S|Ight

have to offer.

prohibit activity to students

EW; Y4 Total Score: 17-18

onfidene Course 15-16
13-14
11-12

0-10

Y8 Total Score: 29-30
27-28
25-26
23-24
Ccunon 0-22

Abseiling

Children were quite successful at this task, developing plans that would be likely to be undertaken and that would significantly
reduce the risk of the situation. Students at year 4 performed almost as well as the year 8 students on the three activities they
reported on. There was a slight decline in performance between 2005 and 2009 at both year 4 and year 8.
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